PAGE 1 OF 8

HEAVY DUTY END MERCHANDISER HDEMO ["Asv-os7

INSTALLATION INSTRUCTION |

CARTONS CONTAINING
HEAVY DUTY END
MERCHANDISER
PARTS ARE LABELED

v

FIRST

NOTE!

HEAVY DUTY END MERCHANDISER, HDEMO,
may be installed on....
A. A gondola currently being installed....pages 2-6.
B. An existing gondola, which requires retrofitting the
first four sections....pages 2-6.
C. An existing gondola that does NOT require the
retrofitting the first three sections....pages 7-8.

[ ————

I WARNING! I
DO NOT EXCEED THE I

| 27,500 INCH/POUNDS .
I MAXIMUM LOAD AS DEFINED IN I

EXAMPLE ONLY!

| THE SHELF LOADING SECTION OF | . :
INSTALLATION INSTRUCTION lllustration represents slightly less than
| ASY-046 | actual load limit ...see WARNING at left.

L o e o

—-e=-=========- PARTS IDENTIFICATION =====c=scc===-

, ,/
wﬂ]

FRONT

‘Z’ BAR for HDEMO

SZB(NW)
WIDTH
36” or 48” OPEN BACK STIFFNER
...with centered slots
OBSCS-Q'_D
The HDEMO is assembled from standard gondola components that are identified in the SEE%?TJ;"

INSTALLATION INSTRUCTION... ASY-046 for gondolas, which is included with this order.

The two parts necesssary to complete the installation are shown above.

Al
™
@@ B% P.O0. BOX 729 /| TERRELL, TEXAS 75160 / 972.563.5744 / 800.776.2349 01 _

[ 1STORE FIXTURES P.O0. BOX 177 /| GOODWATER, ALABAMA 35072 / 256.839.6354 / 800.633.6282




HEAVY DUTY END MERCHANDISER HDEMO

PAGE 2 OF 8

ASY-057

P

INSTALLATION |

NSTRUCTION

adjacent to the HDEMO position.

NOTE!
The installation for new or existing will no

<~ 7

4

| < GONDOLA

L S

.....

I’

[

/

e If this is a new installation, follow instruction ASY-046 GONDOLA
through step 18 step for leveling the gondola. Install UPRIGHT |
base end covers but no upright end cover. Leave one | HD‘I)ErIVIo
back panel out next to HDEMO for installing hhardware. | | UPRIGHT :
i
HDEMO HARDWARE PACK #7200-074 : ! i
QTY. ITEM DESCRIPTION " |
17 1/4 - 20 x 4" Phillips truss head machine screw |
34 1/4" flat washer 2 BAR | |
21 1/4-20 hex nut | |
|

NOTE...washers shown in black on diagrams. |

SEE PAGE 3 FOR INSTALLED HEIGHTS

GONDOLA
‘ END

)
=

UPRIGHT

—

|
=t

NUT

If the gondola is existing, remove the upper shelves, top
spanners and backs, one side, from the first four sections

In the first four gondola sections adjacent
to the HDEMO, install the ‘Z’ bars as shown
above and in the three diagrams. i

GONDO
] END

w be the same.

LA

Ii,l

I ‘2’ BAR ONLY! |
I

B/ o

=4 H

™ i
s ey
P.0O. BOX 729 /| TERRELL, TEXAS 75160 / 972.563.5744 /| 800.776.2349 !

(D)

e
—

01




HEAVY DUTY END MERCHANDISER HDEMO

PAGE 3 OF 8

ASY-057

OBSCS HARDWARE PACK #7200-426

QTY. ITEM DESCRIPTION

1/4 - 20 x 4" Phillips round head machine screw

1/4 - 20 x 6" Phillips round head machine screw

1/4" flat washer

Wl =N

@@

1/4 - 20 hex nut

®)...indicates item, where used.

Item B plus two washers and one hex
nut are to be used later if an HDEMO
top cap is to be installed.

NOTE!

IF HDEMO IS 6”
IF HDEMO AND
GONDOLA ARE TALLER THAN IF HDEMO IS 6”
THE SAME HEIGHT THE GONDOLA SHORTER THAN
v V¥ Hpemo THE GONDOLA
GONDOLA HDEMO GONDOLA - %\RS v
‘Z’ BARS ‘Z’ BARS ‘2’ BARS : GONDOLA

¥

“X”

INSTALLATION INSTRUCTION |

The first steps of the HDEMO assembly are done with

the parts laying on the floor. Connect two basic uprights
of the HDEMO height by installing the OBSCS, open back
stiffner with slot, slot down as shown at left.

NOTE!
There is no top or bottom to the OBSCS. The screws must
go through the lower slots at each end of the OBCS. Be
sure the OBSCS is pushed as far toward the bottom of the
uprights as possible before final tightening.

e

Lay a STL-O on the top of OBSCS in the inverted
position as shown at left. This is not connected
to the upright or OBSCS.

...INVERTED

L5

Consult the diagrams below to determine the
installed heights of the HDEMO ‘Z’ bars in the
following steps.

(1] Y”

@jg
™
@ ﬂ% P.O. BOX 729 /| TERRELL, TEXAS 75160 / 972.563.5744 /| 800.776.2349

REV

B I T

01




PAGE 4 OF 8

HEAVY DUTY END MERCHANDISER HDEMO ["asv-o57

INSTALLATION INSTRUCTION |

o After determining the correct heights at step 6,
install the four ‘Z’ bars as shown. See page 2
for the “A” connection diagram.

BOTH ENDS OF
FOUR ‘Z' BARS

Raise the HDEMO framework to vertical and place
against the gondola end. If the gondola base shelves
are equal, the center hole of the ‘Z’ bars should align
with the screws projecting from the gondola end upright.
If gondola base shelves are unequal, any difference in
width should be as nearly equal at each side to allow
aligning an alternate ‘Z’ bar hole with the screw.

FOR ONE PIECE BACK PANELS
...see page 5 for two piece back panels

Pull the framework slightly away from the gondola.
Insert the rear HDEMO back panel, then drill through
the selected ‘Z’ bar hole, 5/16” drill, and the back
panel at all four ‘Z’ bars.

Run out the HDEMO upright levelers to allow the
screws to insert into the ‘Z’ bar holes.

B I T

7
@ P.O. BOX 729 /| TERRELL, TEXAS 75160 / 972.563.5744 /| 800.776.2349 01




PAGE 5 OF 8

HEAVY DUTY END MERCHANDISER HDEMO ["asv-o57

Secure the ‘Z’ bars tightly to the rear
panel as shown in the diagrams.

[12)

INSTALLATION INSTRUCTION

Insert the front panel and install an
STL-Q, upright caps and upright end covers.

@ Install the KPR-Q, rear kickplate, into the front of
the uprights to cover the open face of the OBSCS.

7
SIS REV
P.O. BOX 729 /| TERRELL, TEXAS 75160 / 972.563.5744 /| 800.776.2349 01 Vi

| comou

UPRIGHT l

]

ontvt ||
G‘ i ‘Z’ BAR

GONDOLA
END

UPRIGHT

FOR TWO PIECE BACK PANELS

Pull the framework slightly away from the gondola.
Insert the lower rear HDEMO back panel, then drill
through the selected ‘Z’ bar hole, 5/16” drill, and the
back panel at all ‘Z’ bars.
NOTE!
48” high lower back panels are always used.
The actual dimension is 43 3/16”

Run out the HDEMO upright levelers to allow the
screws to insert into the ‘Z’ bar holes.

Secure the ‘Z’ bars tightly to the rear
panel as shown in the diagrams.

B I T




PAGE 6 OF 8

HEAVY DUTY END MERCHANDISER HDEMO ["asv-o57

INSTALLATION INSTRUCTION |

{

Ao

N

m Insert the lower front HDEMO back panel, then
install a splicer spanner, SS-0, above the two
lower backs.

&g A

I T T T T T I T T ST T T T T IS T T T T I T L LT LT X LT

)

@ Insert the upper rear HDEMO back panel. It will be
necessary to bow the back panel outward slightly,
from the rear, to clear the screws projecting from the
end gondola upright. Be sure the back is completely
seated in the splicer spanner.

@ Drill through the selected ‘Z’ bar hole, 5/16” drill,
and the back panel at all ‘Z’ bars. Use caution so
as not to damage the screws projecting from the end
gondola upright.

@ Secure the ‘Z’ bars tightly to the upper rear
panel as shown in the diagrams on page 5.

@ Insert the upper front HDEMO back panel, then
install a upper spanner, STL-0, above the two
upper backs.

@ Install the KPR-Q), rear kickplate, as in step 13.

m@ ﬂ% P.O. BOX 729 /| TERRELL, TEXAS 75160 / 972.563.5744 /| 800.776.2349 01

[ ]STORE FIXTURES P.O. BOX 177 /| GOODWATER, ALABAMA 35072 /| 256.839.6354 / 800.633.6282




PAGE 7 OF 8

HEAVY DUTY END MERCHANDISER HDEMO ["asv-o57

INSTALLATION INSTRUCTION

INSTALLING HDEMO TOP CAP
... To retrofit, HDEMO must be 6" higher than the existing gondola!

Top cap replaces "Z" bars to retrofit HDEMO
to existing gondolas without dismantling ...fits
over and bolts through the first four gondola
i uprights regardless of varying section widths. HDEMOTC

HDEMO TOP CAP

HDEMOTC HARDWARE PACK #7200-226

QTY. ITEM DESCRIPTION
STL-O D) 8 1/4 - 20 x 3 1/2" Phillips round head machine screw
CE) 23 1/4" flat washer
! g? 9 | 1/4-20 hexnut
G) 5—1—#10-x1hextruss-headTEK-3-sheetmetat-serew—1— NOT USED
@ 1 1/4 - 20 x 1 1/2” Phllips truss head machine screw
(D)...indicates item, where used.
4"

@ Beginning at step 4, assemble the HDEMO. After
step 8, follow the required steps for one piece or
two piece backs. Drill only through the top ‘Z’ bar
selected hole. Before installing any front panels, lay
the HDEMOTC top cap over the top of the gondola.

Y

o @ Secure the HDEMO top cap through the rear
Z” BAR panel and top ‘Z’ bar as shown at left.

HDEMOTC
TOP CAP

()

@ Secure the HDEMO to the gondola upright
as shown with the remaining fasteners from
the OBSCS hardware pack...see page 3 for
fastener designations. The 6” screw inserts
through the selected slot and the 3/8" dia.
hole in the side of the gondola upright.

@jg
™
@ ﬂ% P.O. BOX 729 /| TERRELL, TEXAS 75160 / 972.563.5744 /| 800.776.2349

.\'<4_4_ ¢ € ¢ € o o € o o € o o € o € - a0 R -- 4
[ STORE FIXTURES P-O. BOX 177 /| GOODWATER, ALABAMA 35072 / 256.839.6354 / 800.633.6282 01




PAGE 8 OF 8

HEAVY DUTY END MERCHANDISER HDEMO ["asv-o57

INSTALLATION INSTRUCTION |

Secure the HDEMOTC to each of the four
gondola uprights as shown at right, two
sets of fasteners at each upright.

@ Insert the front panel and install an STL-0Q,
upright caps and upright end covers.

@ Install the KPR-Q), rear kickplate, into the front of
the uprights to cover the open face of the OBSCS.

@g
™
N @ ﬂ% P.O. BOX 729 /| TERRELL, TEXAS 75160 / 972.563.5744 / 800.776.2349 01

O STORE FIXTURES P.O. BOX 177 /| GOODWATER, ALABAMA 35072 /| 256.839.6354 / 800.633.6282

REV# | ECN# REVISION BY DATE REV# | ECN# REVISION BY DATE
01 5*16841 |ADDED SZB CODETOPG 1 CAB 9/29/15




